IN ALL QUESTIONS CORRECT ANSWER IS “A”

2005
1. A sample of milk was taken for testing from a 5 ton milk batch. Lab analysis showed the following: fat content 2%, specific density- 1,04 g/cm3, acidity 210C, reductase probe – weak positive. What way the product is to be used in? What would you advise?

A. Sell but inform customers about milk quality

B.Write the product off for animal feeding

C. Utilize technically

D. Sell without limitations

E. Annihilate the product
2. What methods of the collecting of the information is preferable for study of housing conditions of students of medical HIGH SCHOOL for a training period?

A. Questioning

B. Interviewing

C. Selecting of materials

D. A method of the directed selection

E. Statistical

3. Patient with thyrotoxicosis is in the 2-beds hospital ward of therapeutic department. The area of the ward is 18 m2, height 3 m, ventilation rate 2,5/hr. Air temperature - 200_, relative humidity 45%, air movement velocity 0,3 m/s, light coefficient 1/5, noise level 30 dB. Make hygienic evaluation of the conditions.

A. Discomfortable microclimate

B. Non-effective ventilation

C. Poor lighting

D. High level of noise

E. All conditions are OK

4. 33 y.o. woman works as the secretary. Her diet contains 150 g of protein (including

100 g of animal protein), 200 g of fat, 600 g of carbohydrates. What pathology can develop from this diet?

A. Obesity

B. Schizophrenia

C. Paradontosis

D. Common cold

E. Uterine fibromyoma

5. A 9 y.o. girl has an average height and harmonic growth development. She was ill with acute respiratory infection for five times. Define the group of her health.

A. 2nd group

B. 1st group

C. 3rd group

D. 4th group

E. 5th group

6. A patient with nosocomial pneumonia has signs of collapse.Which of the following pneumonia complication is the most likely to be accompanied with collapse?

A. Septic shock

B. Exudative pleuritis

C. Bronchial obstruction

D. Toxic hepatitis

E. Emphysema

7. The 56 y.o. patient has worked at the aluminium plant more than 20 years. Within 3 last years he has developed loosening of teeth, bone and joint pains, piercing pains in heart area, vomiting. The preliminary diagnosis is:

A. Fluorine intoxication

B. Mercury intoxication

C. Lead intoxication

D. Phosphorus intoxication

E. Manganese intoxication

8. A military unit stopped for 3-day’s rest in inhabited locality after a long march. The sanitary-epidemiological reconnaissance found several water sources. It is necessary to choose the source complying with the hygienic standards for potable water in the field

A. Artesian well water

B. Spring water

C. River water

D. Rain water

E.Water from melted snow

9. On physiologic-sanitary examination of railway department work it was revealed that loaders work is of III degree of difficulty. They unload vagons with sand, manually break coagulated mass by shovel and shift it. What criteria was used to evaluate work of loaders?

A. Maximun load weigh which is shifted

B. Value of static loading for the shift

C. Time of active activities, % to the shift duration

D. Time of passive observation, % to the shift duration

E. Intellectual efforts

10. A boy, aged 9, is examined: height- 127 cm (-0,36), weight - 28,2 kg (+0,96), chest circumference- 64,9 cm (+0,66), lung vital capacity - 1520 ml (-0,16).What is the integrated assessment of the child’s physical development?

A. Harmonious

B. Disharmonious

C. Markedly disharmonious

D. Excessive

E. Below the average

11. A 2 m.o. child was delivered at term with weight 3500 g and was on the mixed feeding. Current weight is 4900 g. Evaluate the current weight of child. 

A. Corresponding to the age

B. 150 g less than necessary

C. Hypotrophy of I grade

D. Hypotrophy of II grade

E. Paratrophy of I grade

12. In a forest summer camp children have variable procedures to harden their organisms. What procedure has the most hardening power?

A. Contrast shower

B. Morning exercises on the fresh air

C. Hygienic shower

D. Walking on the fresh air

E. Bath with hydromassage

13. At’s planned to construct multifield a new hospital in one of the cental city districts. What building type is the most appropriate in this case?

A. Centralized and blocked

B. Centralized

C. Decentralized

D. Mixed

E. Blocked

14. There is a dynamic growth of number of congenital abnormalities such as central paralysis, newborns blindness, idiocy among the population that lives near to pesticides production enterprise. Compounds of which pollutant can cause the development of this pathology?

A. Mercury

B. Strontium

C. Cadmium

D. Iron

E. Chrome

15. On observation of sanitary conditions of studying at the technical university it was necessary to evaluate the visual regimen of students, who study from 9 a.m to 3 p.m. What index of natural light will be the most informative?

A. Natural light coefficient

B. Light coefficient

C. Depth of study room

D. Time of the room insolation

E. Presence of mixed (upper-lateral) light

16. On medical observation a doctor identified girl (162 cm tall and 59 kg weight) who complained loss of ability to see surrounding objects clearly in the evening. On examination: dry skin, hyperkeratosis. Her daily ration includes the following vitamines: vitamine А– 0,5 mg, vit._1– 2,0 mg, vit._2– 2,5 mg, vit._6– 2 mg, vit.С– 70  mg.What is the hypovitaminosis type?

A. A-hypovitaminosis

B. B1-hypovitaminosis

C. B2-hypovitaminosis

D. B6-hypovitaminosis

E. C-hypovitaminosis
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1. A 5 tons milk batch was sampled. The lab analysis revealed: fat content 2%, specific density - 1,04 g/cm3, acidity - 210Т, reductase probe - weak-positive. What way is the product to be used in?

A. Sell but inform customers about milkquality

B. Discard for animal feeding

C. Technical utilization

D. Sell without limitations

E. Do the product away

2. Patient with thyreotoxicosis is in the 2 beds hospital ward of therapeutic department. The area of the ward is 18 m2, height 3 m, ventilation rate 2,5/hr. Air temperature - 200_, relative humidity - 45%, air movement velocity - 0,3 m/s, light coefficient - 1/5, noise level - 30 dB. Do hygienic evaluation of the conditions meet the standards?

A. Discomfortable microclimate

B. Non-effective ventilation

C. Poor lighting

D. High level of noise

E. All conditions meet the requirements

3. A 15 year old adolescent was taken to the hospital with complaints of poor night

vision. Objectively: increased darkness adaptation time, Bitot’s spots on conjuctiva. The patient’s skin is dry, scales off, folliculitis signs of the face skin are present.What is the cause of this disease?

A. Retinole deficit

B. Thiamine deficit

C. Biotin deficit

D. Folic acid deficit

E. Napthtochynones deficit

4. A laboratory obtained a milk sample sent for analysis. Analysis gave the following data: color - whitish, smell – has no pecularities, taste - typical for milk, density - 1,038, acidity - Turner’s 350, fat - 3,2%. What is the quality level of this milk?

A. The milk is of poor quality

B. The milk is of high quality

C. The milk is of reduced quality

D. The milk is falsificated

E. The milk is nominally qualified

5. A military unit stopped for 3-day’s rest in inhabited locality after a long march. The sanitary-epidemiological reconnaissance found several water sources. It is necessary to choose the source complying with the hygienic standards for drinking water in the field

A. Artesian well water

B. Spring water

C. River water

D. Rain water

E. Water from melted snow

6. A boy, aged 9, was examined: height - 127 cm (-0,36), weight - 28,2 kg (+0,96), chest circumference - 64,9 cm (+0,66), lung vital capacity - 1520 ml (-0,16). What is the complex assessment of the child’s physical development?

A. Harmonious

B. Disharmonious

C. Apparently disharmonious

D. Excessive

E. Below the average
7. A mineshaft is situated on the territory of homestead land, it is 20 m away from the house, 10 m - from the toilet and  15 m - from the neighbour’s house. What is the smallest distance that, according to the sanitary code, should be established between the well and the source of probable water pollution?

A. 30 m

B. 25 m

C. 20 m

D. 15 m

E. 10 m

8. A 2 m.o. child was delivered in time with weight 3500 g and was on the mixed feeding. Current weight is 4900 g. Evaluate the current weight of the child:
A. Corresponding to the age 

B. 150 g less than necessary

C. Hypotrophy of the I grade

D. Hypotrophy of the II grade

E. Paratrophy of the I grade

9. In course of observation of sanitary conditions of studying at the technical university it was necessary to evaluate the visual regimen of students, who study from 9 a.m to 3 p.m.What index of natural light will be the most informative?

A. Natural light coefficient

B. Light coefficient

C. Depth of study room

D. Time of the room insolation

E. Presence of mixed (upper-lateral) light

10. People who live in the radiation polluted regions are recommended to include pectins into their dietary intake for the radioactive nuclides washout. What products are the main source of pectins?

A. Fruit and vegetebles

B. Bread

C. Milk

D. Meat

E. Macaroni

11. The Transcarpathian region is characterized by constant high (over 80%) air moisture. Population of this region feels an intense cold in winter when the temperature is temperately low.What way of heat emission becomes more active?

A. Convection

B. Irradiation

C. Evaporation

D. Conduction

E. Radiation
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1. A 9 y.o. child with diagnosis "chronic tonsillitis"stands dispanserization control.

Within 1 year of observation there was one exacerbation of disease. Physical condition is satisfactory. The general state is not infringed. Define group of health:

A. III (a)

B. II-d

C. I-st

D. III (b)

E. III (c)
2. A 5 tons milk batch was sampled. The lab analysis revealed: fat content 2%, specific density - 1,04 g/cm3, acidity - 210Т, reductase probe - weak-positive. What way is the product to be used in?

A. Sell but inform customers about milk quality

B. Discard for animal feeding

C. Technical utilization

D. Sell without limitations

E. Do the product away

3. An anestesiologist gives narcosis to the patient, he uses a non-reversive contour. Anesthetic is halothane. Air temperature in the operation room is 210_, humidity 50%, level of noise 30 dB. What occupational hazard is the principal one under these conditions?

A. Air pollution with anesthetic

B. Improper occupational microclimate

C. High level of noise

D. Mental overfatigue

E. Compelled working pose

4. For the persons who live in a hot area after an accident at a nuclear object, the greatest risk within the first decade is represented by cancer of:

A. Thyroid gland

B. Skin

C. Reproduction system organs

D. Breast

E. Lungs

5. A 56 y.o. patient has worked at the aluminium plant over 20 years. Within 3 last years he has got loosening of teeth, bone and joint pains, piercing pains in heart region, vomiting. The provisional diagnosis is:

A. Fluorine intoxication

B. Mercury intoxication

C. Lead intoxication

D. Phosphorus intoxication

E. Manganese intoxication

6. The patient 25 y.o. was admitted on the 1st day of the disease with complaints of double vision in the eyes, heavy breathing. The day before the patient ate homemade mushrooms. On objective examination: paleness, widened pupils, disorder of swallowing, bradycardia, constipation are marked. What is the diagnosis?

A. Botulism

B. Yersiniosis

C. Leptospirosis

D. Salmonellosis, gastrointestinal form

E. Lambliasis

7. A military unit stopped for 3- day’s rest in inhabited locality after a long march. The sanitary-epidemiological reconnaissance found several water sources. It is necessary to choose the source complying with the hygienic standards for drinking water in the field conditions.

A. Artesian well water

B. Spring water

C. River water

D. Rain water

E.Water from melted snow

8. A district doctor keeps the record of reconvalescents after infectious diseases, people who are disposed to frequent and long-lasting diseases, patients with chronic pathologies. What category of patients should belong to the III health group?

A. People with chronic diseases

B. People disposed to frequent and longlasting  diseases

C. People with chronic pathologies and disposed to frequent and long-lasting diseases

D. Reconvalescents after infectious diseases and patients with chronic pathologies

E. All above mentioned categories
9. A 2 m.o. child was delivered in time with weight 3500 g and was on the mixed feeding. Current weight is 4900 g. Evaluate the current weight of the child:

A. Corresponding to the age

B. 150 g less than necessary

C. Hypotrophy of the I grade

D. Hypotrophy of the II grade

E. Paratrophy of the I grade

10. In course of observation of sanitary conditions of studying at the technical university it was necessary to evaluate the visual regimen of students, who study from 9 a.m to 3 p.m.What index of natural light will be the most informative?

A. Natural light coefficient

B. Light coefficient

C. Depth of study room

D. Time of the room insolation

E. Presence of mixed (upper-lateral) light

11.Achild is 1 y.o.Within the last months after the begining of supplemental feeding the child has appetite loss, diarrhea with massive defecation, sometimes vomiting. Objectively: body temperature is normal. Body weight is 7 kg. Evident pallor of skin, leg edemata, enlarged abdomen. Coprogram shows a lot of fatty acids and soaps. The child was diagnosed with celiac disease and prescribed gluten-free diet. What shoul be excluded from the dietary intake in this case?

A. Cereals - wheat, oats

B. Milk and dairy produce

C. Fruit

D. Animal protein

E. Digestible carbohydrates

12. A worker at a porcelain factory who has been in service for 10 years complains of cough, dyspnea, ache in his chest.What occupational disease are these complaints most typical for?

A. Silicosis

B. Multiple bronchiectasis

C. Chronic dust bronchitis

D. Occupational bronchial asthma

E. Chronic cor pulmonale

13. Medical examination of a man revealed "geographic tongue". This microsymptom is the evidence of the following vitamin deficiency:

A. Vitamins of B group

B. Vitamin A

C. Vitamin C

D. Vitamin D

E. Vitamin PP

14. The major repair of a hospital included renewal of colour design of hospital premises because it is of great psychological and aesthetical importance; and so the walls of patient wards will be painted under consideration of:

A. Windows orientation

B. Hospital profile

C. Diseases of patients who will be staying in these wards

D. Wall reflection coefficient

E. Creation of cozy atmosphere

15. Atmospheric air of an industrial centre is polluted with the following wastes of metallurgical plants: sulphuric, nitric, metal, carbon oxides that have negative influence upon the inhabitants’ health. The effct of these hazards can be characterized as:

A. Combined

B. Complex

C. Associated

D. Adjacent

E. Mixed

16. Poorly refined wastes of an industrial plant are usually thrown into the river that supplies drinking water. It causes perishing of some microorganisms, disturbs processes of water self-purification and worsens its quality that can have negative influence upon people’s health. How is this effect of environmental factors called?

A. Indirect

B. Direct

C. Associated

D. Complex

E. Combined

17. At a machine-building plant the casts are cleaned by means of abrasion machines that are a source of local vibration. What are the most efficient preventive measures for preventing harmful effect of vibration on workers’ organisms?

A. Use of gloves that reduce vibration

B. Preliminary and periodical medical examinations

C. Hand massaging

D. Warm hand baths

E. Giving sanitary instructions to the workers

18. A 30 y.o. parturient woman was taken to the maternity house with complaints of having acute, regular labour pains that last 25-30 seconds every 1,5-2 minutes. Labour activity began 6 hours ago. Uterus is in higher tonus, head of the fetus is above the opening into the small pelvis. Fetal heartbeat is 136/min. P.V: cervical dilatation is 4 cm, uterine fauces is spasming at a height of parodynia. Head is level with opening into the small pelvis, it is being pushed off. What is the most probable diagnosis?

A. Discoordinated labour activity

B. Secondary powerless labour activity

C. Pathological preliminary period

D. Primary powerless labour activity

E. Normal labour activity

2008
1. The average body lenth of newborn boys is 50,9 cm at a sigma 1,66; and average mass - 3432 at a sigma 5,00.What criterion is necessary to compare degree of variability of these signs?

A. Coefficient of variation

B. Sigma

C. Limit

D. Amplitude

E. Coefficient of association

2. A child is 6 years old. Within one year of observation he had URI that lasted 8 days. Physical state is satisfactory. Specify  his health group:

A. I

B. II

C. III (a)

D. III (b)

E. III (c)

3. A 5 tons milk batch was sampled. The lab analysis revealed: fat content 2%, specific density - 1,04 g/cm3, acidity - 210Т, reductase probe - weak-positive. What way is the product to be used in?

A. Sell but inform customers about milk quality

B. Discard for animal feeding

C. Technical utilization

D. Sell without limitations

E. Do the product away

4. A nine year old child is at a hospital with acute glomerulonephritis. Clinical and laboratory examinations show acute condition. What nutrients must not be limited during the acute period of glomerulonephritis?

A. Carbohydrates

B. Salt

C. Liquid

D. Proteins

E. Fats

5. A fitter of a metallurgic factory with occupational exposure to high concentrations of mercury fumes for 16 years presents instability of pulse and blood pressure, general hyperhydrosis, asymmetric innervations of facial muscles and tongue, positive subcortical reflexes, hand tremor on physical examination. A dentist revealed paradontosis and chronic stomatitis. What is the most probable diagnosis?

A. Chronic mercury intoxication

B. Neuroinfection

C. Parkinson syndrome

D. Acute mercury intoxication

E. Mercury encephalopathy

6. A severely traumatized patient who has been receiving prolonged parenteral alimentation develops diarrhea, mental depression, alopecia and perioral and periorbital dermatitis. Administration of which of the following trace elements is most likely to reverse these complications?

A. Zinc

B. Iodine

C. Selenium

D. Silicon

E. Copper

7. A 56 year old patient has worked at the aluminium plant over 20 years. Within 3 last years he has been experiencing loosening of teeth, bone and joint pains, piercing pains in heart region, vomiting. The provisional diagnosis is:

A. Fluorine intoxication

B. Mercury intoxication

C. Lead intoxication

D. Phosphorus intoxication

E. Manganese intoxication

8. A patient complained about problems with pain and tactile sensitivity, pain in the nail bones at the end of the working day. He works at a plant with mechanical devices. What pathology can be suspected?

A. Vibration disease

B. Caisson disease

C. Noise disease

D. Overwork symptoms

E. Hypovitaminosis of B1

9. A25 year old patient was admitted on the 1st day of the disease with complaints of double vision in the eyes, heavy breathing. The day before the patient ate home-made mushrooms. On objective examination: paleness, mydriatic pupils, difficult diglutition, bradycardia, constipation. What is the diagnosis?

A. Botulism

B. Yersiniosis

C. Leptospirosis

D. Salmonellosis, gastrointestinal form

E. Lambliasis

10. Maximum permissible concentration of carbon dioxide in the air is considered to be a sanitary index of air purity in a classroom. What concentration of carbon dioxide in the air is accepted as maximum permissible?

A. 0,1%

B. 0,05%

C. 0,15%

D. 0,2%

E. 0,3%

11. Periodical survey of a worker of a chemicals plant revealed a malignant neoplasm on the urinary bladder. This occupational disease was the most probably caused by contact with the following industrial poison:

A. Benzidine

B. Vinyl chloride

C. Nickel carbonyl

D. Asbestos

E. Arsenic

12. A military unit stopped for 3-day’s rest in an inhabited locality after a long march. The sanitary-epidemiological reconnaissance found several water sources. It is necessary to choose the source complying with the hygienic standards for drinking water in the field conditions:

A. Artesian well water

B. Spring water

C. River water

D. Rain water

E. Melt snow water

13. A 2 month old full-term child was born with weight 3500 g and was on the mixed feeding. Current weight is 4900 g. Evaluate the current weight of the child: 
A. Corresponding to the age

B. 150 g less than necessary

C. Hypotrophy of the I grade

D. Hypotrophy of the II grade

E. Paratrophy of the I grade

14. It is planned to make complete isolation boxes in the infectious department in order to prevent nosocomial airborne infections. The boxes consist of a tambour, a ward and a lock chamber. What structure should be also included in a complete isolation box?

A. Bathroom unit

B. Manipulation room

C. Doctor’s consulting room

D. Patient’s examination room

E. Nursing room

15. During hygienic examination of a hospital it was established that the area for each bed in a double ward was: in the infectious department for children - 7 _2, in the infectious department for adults - 8 _2, in the burns department - 9 _2, in the radiological department - 10 _2, in the critical care department - 13 _2. In which wards the area for each bed doesn’t correspond with hygienic requirements?

A. In burns wards

B. In infectious wards for children

C. In infectious wards for adults

D. In radiological wards

E. In critical care wards
2009
1. Student В. lives in the canalized house in the flat with complete set of sanitary equipment (WC, bath, shower, local water heater). How much water consumption has he got?

A. 160-200 l

B. 10-15 l

C. 50-100 l

D. 300-400 l

E. 500 l

2. The man, aged 42, applied to the therapeutist with complaints of pricking pains in scapulas area, dyspnea on physical exertion, cough with discharge of small amount of sputum. During 10 years he works in coal mining. On percussionbox- note sound in the lower parts, on auscultation- a harsh breathing. There were no changes in the heart. Possible diagnosis?

A. Silicosis

B. Tuberculosis of lungs

C. Silicatosis

D. Bronchiectatic disease

E. Chronic bronchitis

3. A man, aged 37, working on the collective farm on sowing, was admitted to the infectious hospital with the clinical symptoms: miosis, labored breathing, sweating.What kind of poisoning is it and what is the first aid?

A. Poisoning by POC. Treatment: atropine

B. Poisoning by lead. Treatment: tetacine Calcii

C. Poisoning by the methylic alcohol. Treatment: ethylic alcohol 
D. Poisoning by vapours of mercury. Treatment: unithiol

E. -

4. The 25 year old patient was admitted on the 1st day of the disease with complaints of double vision in the eyes, difficult respiration. The day before the patient ate home-made mushrooms. On objective examination: paleness, widened pupils, disorder of swallowing,

bradycardia, constipation are marked. What is the diagnosis?

A. Botulism

B. Yersiniosis

C. Leptospirosis

D. Salmonellosis, gastrointestinal form

E. Lambliasis

5. Apatient complained about problems with pain and tactile sensitivity, pain in the nail bones at the end of the working day. He works at a plant with mechanical devices. What pathology can be suspected?

A. Vibration disease

B. Caisson disease

C. Noise disease

D. Overwork symptoms

E. Hypovitaminosis of B1

6. A 2 month old full-term child was born with weight 3500 g and was on the mixed feeding. Current weight is 4900 g. Evaluate the current weight of the child:

A. Corresponding to the age

B. 150 g less than necessary

C. Hypotrophy of the I grade

D. Hypotrophy of the II grade

E. Paratrophy of the I grade

7. An outbreak of food poisoning was recorded in an urban settlement. The illness was diagnosed as botulism on the grounds of clinical presentations. What foodstuffs should be chosen for analysis in the first place in order to confirm the diagnosis?

A. Tinned food

B. Potatoes

C. Pasteurized milk

D. Boiled meat

E. Cabbage

8. The amount of ultraviolet radiation dose was measured in minutes. What device was applied for measurement of the biodose?

A. Gorbachev’s biodosimeter

B. UV-meter

C. Actinometer

D. Radiometer

E. Catathermometer

9. A 42 year old man works in a boiler room. He complains about girdle headache and recurring vomiting. There was also short-term consciousness loss. Objectively: increase of tendon reflexes, spontaneous myofibrillations. AP is 150/80 mm Hg, Ps- 104 bpm. Visible mucous membranes and cutaneous surfaces have crimson colouring. What is the most probable diagnosis?

A. Poisoning with carbon monooxide

B. Poisoning with hydrocyanic acid

C. Poisoning with anilin colouring agents

D. Poisoning with methane

E. Poisoning with benzine

10. It is planned to make complete isolation boxes in the infectious department in order to prevent nosocomial airborne infections. The boxes consist of a tambour, a ward and a lock chamber.What structure should be also included in a complete isolation box?

A. Bathroom unit

B. Manipulation room

C. Doctor’s consulting room

D. Patient’s examination room

E. Nursing room

11. In order to study impact of microclimate upon the human organism it is necessary to make systematic observation of air temperature over 3 days. Choose a device that will allow to make the most precise temperature records:

A. Thermograph

B. Alcohol thermometer

C. Mercury thermometer

D. August’s psychrometer

E. Assmann psychrometer

12. A plot of land with total area of 2,0 hectare was intended for building of a hospital. The maximal capacity of the hospital will be:

A. 100 beds

B. 200 beds

C. 400 beds

D. 800 beds

E. Over 1000 beds

2010
1. A nurse of the kindergarten was taken to the hospital with complaints of accute pain in parumbilical region, convulsions of lower limbs, multiple bile vomiting, frequent watery foul feces of green colour in huge amounts. At the same time all the staff in the kindergarden got ill. Two days ago all of them ate cottage cheese with sour cream. General condition of patients is of moderate severity. Temperature 38,2oC. Heart tones: rhythmic and muted. Heart rate 95/min, arterial pressure: 160 mm/Hg. Abdomen is slightly swollen, painful. Liver +2 cm. What is the most likely diagnosis?

A. Salmonellosis

B. Dysentery

C. Cholera

D. Food toxic infection

E. Enterovirus infection

2. A patient who has been consuming refined foodstuffs for a long time complains about headache, fatiguability, depression, insomnia, irritability. Objectively: muscle asthenia, pain and cramps in the gastrocnemius muscles, during walking the patient lands onto his heel first, then on the external edge of foot. Cardiovascular system exhibits tachycardia, hypoxia, dystrophic changes of myocardium. There are also gastrointestinal disorders. What is the most likely diagnosis?

A. Hypovitaminosis B1

B. Hypovitaminosis B2

C. Hypovitaminosis B12

D. Hypovitaminosis B6

E. Hypovitaminosis B15

3. A 46-year-old patient once took part in elimination of breakdown at an atomic power plant. Currently he is being treated at an in-patient hospital. He was diagnosed with progressing vegetative insufficiency. This disease relates to the following group of ionizing radiation effects:

A. Somato-stochastic

B. Somatic

C. Genetic

D. Hormesis

E. Heterosis

4. Bacterial analysis of air in a living space in winter period by means of Krotov’s apparatus revealed that total number of microorganisms in 1m3 of air was 7200. What is the allowed number of microorganisms for the air to be characterized as "pure"?

A. Up to 4500

B. Up to 2500

C. Up to 3500

D. Up to 5500

E. Up to 7500

5. Over a current year among workers of an institution 10% haven’t been ill a single time, 30% have been ill once, 15%- twice, 5% - 4 times, the rest - 5 and more times. What is the percentage of workers relating to the I health group?

A. 55%

B. 10%

C. 40%

D. 60%

E. 22%

6. A 44-year-old man has been working in coke industry for 16 years. Dust concentration at his workplace is 5-10 times higher than maximum permissible concentration. Roentgenography of lungs revealed changes that are typical for pneumoconiosis. What is the most probable type of pneumoconiosis in this case?

A. Anthracosis

B. Anthracosilicosis

C. Silicatosis

D. Asbestosis

E. Siderosis

7. A driver had been fixing a car in a closed garage and afterwards complained about headache, dizziness, nausea, muscle asthenia, sleepiness. Objectively: pulse and respiratory rate elevation, excitement, hypertension, delirium of persecution. What is the most likely diagnosis?

A. Intoxication with carbon oxide

B. Intoxication with ethyl gasoline

C. Posttraumatic encephalopathy

D. Hypertensive crisis

E. Asthenovegetative syndrome

8. The total area of a ward at the therapeutical department is 28 m2. What is the maximum number of beds that can be exploited in this ward?

A. 4

B. 1

C. 2

D. 3

E. 5

9. In terms of megacalorie (1000 kcal = 4184 kJ) the ration of an adult includes 30 g of proteins, 37 g of fats, 137 g of carbohydrates, 15 mg of vitamin C, 0,6 mg of thiamine (vitamin B1). The ration is UNBALANCED as to the contents of:

A. Vitamin C

B. Proteins

C. Fats

D. Carbohydrates

E. Thiamine

10. Workers of a laboratory producing measuring devices (manometers, thermometers etc) complain about a mettalic taste in mouth, stomatitis, dyspepsia, sleep disturbance, unsteady walk, abrupt decrease in cardiac activity. These presentations must have been caused by the intoxication with the following substance:

A. Mercury

B. Lead

C. Manganese

D. Toluol

E. Tetraethyl lead

11. Evaluation results of sanitary and hygiene conditions in a 4-bed ward were as follows: ward area - 30 m2, height - 3,2 m, temperature - 20oC, humidity - 55%, air velocity - 0,1 m/s, window-to-floor area ratio - 1:5, daylight ratio - 0,6%, concentration of carbon dioxide in the air - 0,1%. Which of the given indicators does not meet hygienic requirements?

A. Daylight ratio

B. Air velocity

C.Window-to-floor area ratio

D. Concentration of carbon dioxide in the air

E.Ward area

12. Medical examination of a 43 y.o. man revealed objectively pailness of skin and mucous membranes, smoothness of lingual papillas, transverse striation of nails, fissures in the mouth corners, tachycardia. Hemoglobin content amounts 90 g/l; there are anisocytosis, poikilocytosis. The most probable causative agent of this condition is deficiency of the following microelement:

A. Iron

B. Copper

C. Zinc

D. Magnesium

E. Selenium

2011
1. Bacterial analysis of air in a living space in winter period by means of Krotov’s apparatus revealed that total number of microorganisms in 1m3 of air was 7200. What is the permissible number of microorganisms for the air to be characterized as "pure"?

A. Up to 4500

B. Up to 2500

C. Up to 3500

D. Up to 5500

E. Up to 7500

2. Examination of a 13-year-old boy reveals that his body length is 147 сm (+2), body weight - 38 kg (+1,5), circumference of chest - 72 cm (+0,2). Estimate the harmonicity of the child’s physical development:

A. Disharmonious

B. Harmonious

C. Above the average

D. Sharply disharmonious

E. Supernormal

3. After treating a field with pesticides a machine operator presents with great weakness, headache, nausea, vomiting, diarrhea, visual impairment, watery eyes. Objectively: the patient is excited, hypersalivation, hyperhidrosis, muscle fibrillation of tongue and eyelids are oberved. Pupils are narrowed, there is tachycardia, lung auscultation reveals moist small and medium bubbling rales. In blood: changed level of cholinesterase activity.What is the most likely diagnosis?

A. Intoxication with organophosphorous pesticides

B. Intoxication with organochlorine pesticides

C. Intoxication with organomercurial pesticides

D. Intoxication with arsenic-containing pesticides

E. Intoxication with carbamic acid derivatives

4. Educational rooms are illuminated with various lighting fittings.What type of lighting fittings is the most appropriate in respect of hygienic norms?

A. Indirect light fittings

B. Direct light fittings

C. Semi-reflected light fittings

D. Ambient light fittings

E. Combined light fittings
5. The Carpathian region is characterized by constant high humidity of atmospheric air (over 80%). Inhabitants of this region feel severe cold in corresponding season at a medium low temperature. It’s caused by heat emission by:

A. Convection

B. Radiation

C. Vaporization

D. Conduction

E. –

6. It is required to analyze the level of daylight illumination in a ward of therapeutics unit. What device should be applied to estimate the level of daylight illumination?

A. Illuminometer

B. Anemometer

C. Katathermometer

D. Actinometer

E. Psychrometer

7. While asessing the health status of graduates of a secondary school, the doctor found one of them to have grade 3 tonsillar hypertrophy, chronic rhinitis and vegetative-vascular dystonia. The organism functionality is reduced. This student belongs to the following health group:

A. III

B. II

C. I

D. IV

E. V

8. Evaluation results of sanitary and hygiene conditions in a 4-bed ward were as follows: ward area - 30 m2, height - 3,2 m, temperature - 20oC, humidity - 55%, air velocity - 0,1 m/s, window-to-floor area ratio - 1:5, daylight ratio - 0,6%, concentration of carbon dioxide in the air - 0,1%. Which of the given indicators does not meet hygienic requirements?

A. Daylight ratio

B. Air velocity

C.Window-to-floor area ratio

D. Concentration of carbon dioxide in the air

E.Ward area

9. Medical examination of a 43 y.o. man revealed objectively pailness of skin and mucous membranes, smoothness of lingual papillas, transverse striation of nails, fissures in the mouth corners, tachycardia. Hemoglobin content amounts 90 g/l; there are anisocytosis, poikilocytosis. The most probable causative agent of this condition is deficiency of the following microelement:

A. Iron

B. Copper

C. Zinc

D. Magnesium

E. Selenium

10. The total area of ground intended for building of a regional hospital is 2,0 hectare. What is the highest possible capacity of the in-patient hospital that can be built upon this ground?

A. 100 beds

B. 200 beds

C. 400 beds

D. 800 beds

E. Over 1000 beds

11. A military unit stopped for 3-day’s rest in inhabited locality after a long march. The sanitary-epidemiological reconnaissance found several water sources. It is necessary to choose the source complying with the hygienic standards for potable water in the field

A. Artesian well water

B. Spring water

C. River water

D. Rain water

E.Water from melted snow

12. An emergency situation at a chemical plant caused acute occupational intoxication. A doctor who revealed the case of "acute occupational disease (intoxication)" must notify the following authority:

A. Sanitary and epidemiological station

B. Plant administration

C. Trade union committee of the plant

D. Medical unit of the plant

E. Ministry of Health of Ukraine

2012
1. A 46-year-old patient once took part in elimination of breakdown at an atomic power plant. Currently he is being treated at an in-patient hospital. He was diagnosed with progressing vegetative insufficiency. This disease relates to the following group of ionizing radiation effects:

A. Somato-stochastic

B. Somatic

C. Genetic

D. Hormesis

E. Heterosis

2. A military unit stopped for 3-day’s rest in an inhabited locality after a long march.

The sanitary-epidemiological reconnaissancefound several water sources. It is necessary to choose the source complying with the hygienic standards for drinking water in the field conditions:

A. Artesian well water

B. Spring water

C. River water

D. Rain water

E. Melt snow water

3. A survey radiograph of a miner (24 years of service record, the dust concentration in the workplace is at the rate of 260-280 mg/m3 with 15 % of free silica) shows lung changes that are typical for pneumoconiosis. What type of pneumoconiosis is it?

A. Anthracosilicosis

B. Carboconiosis

C. Silicatosis

D. Anthracosilicatosis

E. Silicosis

4. To study physical development of children and adolescents, anthropometric studies are widely used. Choose a physiometric method of study from the below given.

A. Determination of vital capacity of lungs

B. Measurement of growth

C. Determination of thorax form

D. Determination of vertebra form

E. Determination of body weight

5. Educational rooms are illuminated with various lighting fittings. What type of lighting fittings is the most appropriate in respect of hygienic norms?

A. Indirect light fittings

B. Direct light fittings

C. Semi-reflected light fittings

D. Ambient light fittings

E. Combined light fittings

6. A 1-month-old child became restless and presented with an increase in head sweating. It’s known from the history that the child has been fed with cow’s milk since birth (September 5). Examination revealed craniotabes. A doctor administered a course of UV radiation. Decide, if the child needs ergocalciferol:

A. 2-2,5 months after the UVR withdrowal

B. Does not need

C. In combination with UVR

D. Immediately after the UVR withdrowal

E. A month after the UVR withdrowal

7. An emergency situation at a chemical plant caused acute occupational intoxication. A doctor who revealed the case of "acute occupational disease (intoxication)" must notify the following authority:

A. Sanitary and epidemiological station

B. Plant administration

C. Trade union committee of the plant

D. Medical unit of the plant

E. Ministry of Health of Ukraine

8. Among the inhabitants of a workmen’s settlement located near an industrial plant the cases of nervous and endocrine system diseases as well as renal diseases became more frequent. Blood analyses revealed a decrease in sulfhydryl groups. These pathologies might have been caused by the following substance released into the environment:

A. Mercury

B. Cadmium

C. Boron

D. Chromium

E. Lead

9. It is required to analyze the level of daylight illumination in a ward of therapeutics unit. What device should be applied to estimate the level of daylight illumination?

A. Illuminometer

B. Anemometer

C. Katathermometer

D. Actinometer

E. Psychrometer

10. Production areas of a greenhouse complex have the following microclimate parameters: air temperature - 42oC, humidity - 98%, air velocity - 0,05 mps, temperature of enclosing surfaces - 15oC. Characterize the microclimate of production areas:

A. Overheated

B. Comfortable

C. Cooling

D. Uncomfortable

E. Satisfactory

11. A 38-year-old male works within the range of ionizing radiation. At a routine medical examination he presents no problems. In blood: RBCs - 4, 5·1012/l, Hb- 80 g/l, WBCs - 2, 8 · 109/l, thrombocytes - 30 · 109/l. Decide if this person can work with sources of ionizing radiation:

A. Working with radioactive substances and other sources of ionizing radiation is contraindicated

B. The patient is allowed to work with radioactive substances

C. The patient can only work with radioactive substances of low activity

D. The patient can be allowed to work after an extended medical examination

E. The patient is allowed to work with radioactive substances for the limited period of time

12. A hospital nutrition unit received a batch of beef. Sanitation physician examined the meat and revealed the presence of 5 bladder worms per 40 cm2 of meat. Give the hygienic assessment of meat:

A. Liable to technical utilization

B. Conditionally admissible

C. Adulterated

D. Good-quality

E. Poor-quality

13. A 12-year-old girls has minor functional and morphological abnormalities: 1,0 D myopia, reduced body resistance. The patient has no history of chronic diseases. Over the last year, there were 4 cases of respiratory diseases. The girl belongs to the following health group:

A. II

B. I

C. III

D. IV

E. V

2013
1. A 40-year-old female patient has been hospitalized for attacks of asphyxia, cough with phlegm. She has a 4-year history of the disease. The first attack of asphyxia occurred during her stay in the countryside. Further attacks occurred while cleaning the room. After 3 days of inpatient treatment the patient’s condition has significantly improved. What is the most likely etiological factor?

A. Household allergens

B. Pollen

C. Infectious

D. Chemicals

E. Psychogenic
2. During the periodic medical examination an assembly fitter (works on soldering details) didn’t report any health problems. Closer examination revealed signs of asthenic-vegetative syndrome. Blood included red blood cells with basophilic aggregations and a somewhat higher number of reticulocytes, urine had a high concentration of deltaaminolevulinic acid. The complex of symptoms indicates the initial stage of chronic intoxication with:

A. Lead

B. Manganese

C. Mercury

D. Tin

E. Ethanol

3. Examination of a group of persons living on the same territory revealed the following common symptoms: darkyellow pigmentation of the tooth enamel, diffuse osteoporosis of bone apparatus, ossification of ligaments and joints, functional disorders of the central nervous system. This condition may be caused by the excessive concentration of the following microelement in food or drinking water:

A. Fluorine

B. Copper

C. Nickel

D. Iodine

E. Cesium

4. During a regular medical examination at a metallurgical plant 20% of workers were found overweight (body weight was 5-14%higher than normal), and had early signs of obesity (grade I-II) with Quetelet index from 26 to 30. What products share must be reduced in the diet of this group of people in the first place in order to normalize their body weight?

A. Bakery products

B. Vegetables

C. Fruit

D. Milk and dairy products

E. Meat and fish products

5. In an urban settlement situated on the riverbank an outbreak of hepatitis A was registered. The disease might have water origin. This assumption can be confirmed  by growth of the following indicators of water quality:

A. Number of coli-phages

B. Escherichia coli index

C. Oxidability

D. Presence of benign leptospirosis

pathogen

E. Index of fecal coli-forms

6. In the morning a patient had nausea, abdominal discomfort, single vomiting, dry mouth. In the evening, the patient presented with the increasing general weakness, double vision, difficult swallowing of solid food. Objectively: ptosis, mydriasis, anisocoria, absence of gag and pharyngeal reflex, dry mucous membranes. The previous evening the patient had dinner with canned food and alcohol. What is the presumptive diagnosis?

A. Botulism

B. Food toxicoinfection

C. Intoxication with unknown poison

D. Acute ischemic stroke

E. Poliomyelitis

7. A city somatic hospital with 300 beds consists of the main building which houses the therapeutic and surgical departments. Several separate buildings house the maternity, pediatric and radiologic departments that are connected to the main building by underground walkways and above-ground covered skybridges. Specify the building system of the hospital:

A. Central-unit

B. Centralized

C. Decentralized

D. Free

E. Combined

8. Sanitary examination of the burns unit for adults revealed that 4-bed wards had an area of 28 m2. What is the minimally required ward area for this department?

A. 40 m2

B. 24 m2

C. 28 m2

D. 30 m2

E. 52 m2

9. Examination of a 43-year-old man objectively revealed pallor of skin and mucous membranes, loss of tongue papillae, transverse striation of fingernails, cracks in the mouth corners, tachycardia. Blood test results: Hb- 90 g/l, anisocytosis, poikilocytosis. The most likely causative agent of this state is inadequate intake of:

A. Iron

B. Copper

C. Zinc

D. Magnesium

E. Selene

10. In order to reduce weed growth on agricultural land, some herbicides have been used for a long time. In terms of environmental stability these herbicides are rated as stable. Specify the most likely route of their entry into the human body:

A. Soil-plants-humans

B. Soil-microorganisms-humans

C. Soil-animals-humans

D. Soil-protozoa-humans

E. Soil-insects-humans

11. A general practitioner visited a 2- year-old child and diagnosed him with measles. The child attends a nursery, has a 5-year-old sister. What document must be filled in for the effective antiepidemic measures in the given health locality?

A. Emergency notification on infectious disease (form №058/o)

B. Sick child care certificate

C. Infant’s record (report form № 112/o)

D. House call record (form №031/o)

E. Child care sick leave

12. Survey radiograph of a 52-year-old worker of an agglomeration plant (28 years of experience, the concentration of metal dust is 22-37 mg/m3) shows mildly  pronounced interstitial fibrosis with  diffused contrast well-defined small nodular shadows. The patient has no complaints. Pulmonary function is not compromised. What is the provisional diagnosis?

A. Siderosis

B. Silicosis

C. Anthraco-silicatosis

D. Silicatosis

E. Anthracosis

2014
1. What juice should be included in a complex drug and dietary therapy for patients with gastric ulcer or duodenal ulcer and increased  gastric juice acidity in order to accelerate the ulcer healing?

A. Potato, potato and carrot

B. Apple, birch and apple

C. Pumpkin

D. Cabbage, cabbage and carrot

E. Celery, parsley

2. Study of natural illumination for a workplace in a secondary school classroom revealed that the angle of sunlight incidence was 25o, window opening angle - 3o, windowto-floor area ratio - 1:4, daylight ratio - 0,5%, depth ratio - 2. What indicators do not meet hygienic standards?

A. Daylight ratio

B.Window opening angle

C.Window-to-floor area ratio

D. Depth ratio

E. Angle of incidence
3. Bakers at bread production work in conditions of high temperature and high heat radiation. What is used to increase the body’s resistance to the unfavorable effects of these harmful work environment factors?

A. Vitamin preparations

B. Milk

C. Pectin

D. Therapeutic and preventive diet №1

E. Therapeutic and preventive diet number№3

4. A 51-year-old female is a weaving factory worker with 15 years of service record. During a regular preventive examination she complained of frequent headaches, poor sleep, tingling in the heart, irritability, rapid fatigability, hearing impairment. For years, the noise level has exceeded the maximum allowable concentration by 10-15 dB. A year ago, the patient underwent a course of treatment for essential hypertension. Specify the most likely diagnosis:

A. Noise disease

B. Essential hypertension

C. Neurasthenia

D. Asthenic-vegetative syndrome

E. Arteriosclerotic encephalopathy

5. Some of the population of a city district have uneven teeth color. The individuals have white spots, transverse brown stripes on the incisors. Occurrence of these symptoms is associated with the quality of drinking water from a deep well. Which of the following components of water can be the cause of the disease?

A. F

B. Ca

C. Mg

D. J

E. Fe

6. A 48-year-old male in-patient undergoes treatment for essential hypertension of IIB stage. It is known from history that he works in a design engineering office. His job involves neuro-emotional stress. Which of these foodstuffs do not stimulate the central nervous system and can be recommended for the patient?

A. Whole milk

B. Meat broths

C. Mushroom broths

D. Vegetable broths

E. Carbonated beverages

7. In an urban settlement situated on the riverbank, an outbreak of hepatitis A was registered. The disease might have water origin. This assumption can be confirmed by growth of the following values of water quality:

A. Number of coli-phages

B. Escherichia coli index

C. Oxidability

D. Presence of benign leptospirosis pathogen

E. Index of fecal coli-forms

8. The institutions which take part in medical examinations can be prevention and treatment facilities, medical board of Ministry of Defense, medical board of Ministry of Home Affairs, medico-social expert commissions, forensic medical boards etc.What institutions are responsible for temporary disability examination?

A. Prevention and treatment facilities

B. Sanitary-and-prophylactic institutions

C. Medico-social expert commissions

D. Medical boards of the Ministry of Defense

E. Medical boards of the Ministry of Home Affairs

9. Public nurseries are designed as a single or several one- or two-storey buildings linked by covered walkways. Planning the structure of preschool instiutions is based upon thefollowing principle:

A. Principle of group isolation

B. Principle of autonomy

C. Principle of age distribution

D. Principle of sex distribution

E. Principle of age-sex distribution

10. A city somatic hospital with 300 beds has a main building which houses the therapeutic and surgical departments. Several separate buildings house the maternity, pediatric and radiologic departments that are connected to the main building by underground walkways and above-ground covered skybridges. Specify the building system of the hospital:

A. Central-unit

B. Centralized

C. Decentralized

D. Free

E. Combined

11. A general practitioner visited a 2-year-old child and diagnosed him with measles. The child attends a nursery, has a 5-year-old sister. What document must be filled in for the effective antiepidemic measures in the given health locality?

A. Emergency notification on infectious disease (form №058/o)

B. Carer’s leave certificate

C. Infant’s record (report form №112/o)

D. House call record (form №031/o)

E. Sick leave

12. Carpathian region is characterized by permanently high (over 80%) air humidity. In the cold season the population of this region feels very cold at moderately low temperatures. This is due to an increase in the heat transfer by:

A. Convection

B. Emission

C. Evaporation

D. Conduction

E. Radiation

13. A factory’s sectorial doctor selects a group of persons who often fall ill for thorough monitoring. At the same time he takes into consideration the number of etiologically related cases with temporary disability in each of the employees over the last year. An employee falls into this group if the number of sickness cases is:

A. 4 or more

B. 1 or more

C. 2 or more

D. 3 or more

E. 6 or more

14. It is planned to organize a rural outpatient clinic. The patients will be able to visit the doctors of the following specialities: 

A. Therapeutist, dentist, pediatrician, obstetrician-gynecologist 

B. Therapeutist, pediatrician, neurologist

C. Pediatrician, obstetrician-gynaecologist,

ophthalmologist

D. Pediatrician, therapeutist, ophthalmologist

E. Obstetrician-gynaecologist, therapeutist

